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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’,

"FVIEC

ir—o', "ECl:g—0o']]

2800

2600

2400 -

2200 -

2000 -

1800 ~

Warning: col ['ECC’, 'FVIEC'] is missing

—— ECI

10

20

30

40

50

60




Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’,

"FVIPH
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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P3-9

BfiE) | GEBAK ) | ERE (EAR/H) | BERERE (B/R) | XS EE

07:05 283 150.0 2. 888 5| FHA@O7:05 KENFEF (RA{ERNEE)
07:50 283 150.0 2. 888 5| FEAe07:50 KEFEFE (CGRAMEEE)
08:35 283 150.0 2. 888 5| FHA@08:35 KENFEF (GRAfEEIEE)
09:30 283 150.0 2. 888 5| FHEA@09:30 KENFEF (GRA{ERENER)
10:20 283 150.0 2. 888 5| FEAe10:20 KEIEFE CGRAMFESE)
11:05 283 150. 0 2.888 E|  FHA@11:05 KEFEF (REBMERE)
11:50 283 150. 0 2.888 g FiHfet11:50 KREFEF (REERES)
12:30 283 150.0 2. 888 5| FHAe12:30 KEIEFE CGRAFESE)
13:10 283 150. 0 2. 888 E(  FiHRe13:10 KREFEF CGRAERE)
13:55 283 150.0 2. 888 | FHAe13:55 KEFEF (KAERESE)
14:40 283 150.0 2. 888 5| FEAe14:40 KEIEFE CGRAMFESE)
15:30 283 150.0 2. 888 5| FHAe15:30 REFEF (RAHEESE)
16:30 283 150.0 2. 888 & FiHfe16:30 KREFEF (RFEERES)
23t 3679.0 (13%) 1950. 0 3 HKEC: 2080.0, PH: 5.6

##[EKECE (1860.0 vs 3800.0) d 5
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P3-9_0, Day=62 (2025-06-03)
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P3-9

BrE) | GEBAK (F) | EHRE(EH/AR) | EREE (G/R) [ XS R

08:30 288 150. 0 2.888 E  1BRi%e08:30 Fa1 (RAERRE)
09:10 288 150.0 2. 888 F[ BRi1%e09:10 Fa1 (GRAEREE)
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12:35 288 150.0 2. 888 = {Rige12:35 Fz (RAERSE)
13:15 288 150.0 2.888 (Z=| {Ri%e13:15 Fzh (KRAEHSE)
13:55 288 150.0 2.888 (Z=| {Ri%@13:55 Fz (FAEHSE)
14:35 288 150.0 2.888 |Z=| {Ri&e14:35 Fz1 (KREEZBE)
15:15 288 150.0 2.888 (Z=| 1Ri%e15:15 Fzh (KREAEHSE)
16:00 288 150.0 2.888 |Z=| {Ri&e16:00 Fz (KEEZEHE)
21t 3168.0 (11)%) 1650. 0 JEWHKEC: 2080.0, PH: 5.6

HEEHERE STRERFT (195.0 :
2RI\ EPRERE153.0 ml.

#H[EKECE (1907.0 vs 4280.0) 15

153.0), AIEEHT—@E XA 5




P3-9_0, Day=61 (2025-06-02)
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P3-9

BfiE) | GEBATK (7)) | ERE (BEH/f) | ERERE (B/R) | XS R

09:50 288 150. 0 2.888 |Z=| 1BRi&@09:50 Bzh (RAERE)
11:10 288 150.0 2. 888 FA| {Ri%e11:10 Bz CGRAEEE)
12:10 288 150.0 2. 888 FA| {Ri%@12:10 Bz CGRAERE)
13:10 288 150.0 2. 888 FA| {Ri%@13:10 Bz CGRAEESE)
15:20 288 150.0 2. 888 PH| {Ri%e15:20 Bz (RAERESE)
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